»

[
[§)

w
N

S

IS
o

[
o

00 )|ﬂ

=y
(ERH=7|F)

ASHZOHE2] Y IIAN(AMZY S

2{CIo0lEf of 2]
g29 ojug2|

BCIOIE] 45 &2

BICIOIE] 3 EA

2/0f DiE2] O ERI(LH)

27l 9ICH HBA(LH OR 27H)

ZEe i ts

EEELED]

AZE HIC| 72 B4

Zaix| Zel2 Ml ojuse)

T9) AE|OfY O HT o=
T9) AE(OfY 9 2 B4 ojuE2
T49) AE(Of 7/0f % B7Ix| o2

k| AEI0IY U A IR|(E R AU HE)

2iC|0fl0]E] A 2EIA

2tcjofloe 2 of M2l

ZE & 7 ofMEa| (UX)

Y ojd =24 ojdE2
OFRALO|=2|01RO|2{ 0 E2|(LH)
OFRALO|=2|0{ 570|210 S2|(RH)

OF2AI0|E 2|0 | 2|2 E HEE 02| ojdE2|
OF2AIO|E 2]0f H 2|2 E HEE 0|2{(RH)
OFRALOIE 210 7 02 ¥ EO ojHE2] (LH)
OFRALOIE 210 7 03 ¥ &0 ojHE2] (RH)

sl= M= ofdE2I(LH)
sl= M= ojdE2] (%)
&= M= ofE2|(RH)
ZE2EZ MM ER| (LH)
ZEE X EH.u. O‘l*claal (OFE)
ZEEZIHZOIYER] (RH)
2lojZd|uo| A zZoEa] (LH)
2[0] ZH[H[01d Y= oY E2] (¥F)
2|ojgt|uo| M=o 2| (RH)
2lojZd|uo| A zZo 2] (LH)

I:I

2|0] ZH[L0]M QIAIO|E HZ of g2 (YF)
2[00 HOLR A E =0 E2] (RH)

22 Az ofE2|0olofy T3
AE YT A9I%| ojuE2
Sejel-Ed Al
PIC TX O{MIE2|
olof#h =S 25
£ opusel (W
ZHA ofgERl ()
e ofsgaic)
CIARIR] 34 2 O-(*)
ACAE obM BE| L BT ojuE2
fICAC oty 2/ ofEe]
2/0fa 3 AH{0fHE2I(LH)
=i 2% ol B

40

SE I HH (5H3)
A3 211 ojdE2| (FA)

Azl o2u/2E]

Az A/ EE /o322

EiE (lg?f/\)

oilo] 22|14 ZH

LPI ZE

H|E{Z] ofdlE2]

QE EaA%S 0

QEDN QU (TH| AI)
TE2ECY0|3C|AI(LH)

Z2E 20|23 C|lAI(FE)
ZE2EHY0|AC|AI(RH)

e AE|0E 2 L Z7|u7|

e AE|0E Y (FH|AL)

T2E [|A3 230|3 IE 7|E(LH)
ZEE C|A3 H20|3 e 7|=QH)
2/0f Cla3Ez|o|3E S| (FF)
20|32 2 I 37| w7

Ollo{ZAEIE]

Az 22| =0f ojgEa|

2 W2 A2E)

2 ABQIHE TF(28)

{ S BEFHAIZ

FOf| 2t A|ZH 2 AlEQlo|

40|

=53
)

A
£9

D\O

G70

(IK)

Azt
13
13
0.3
0.5
1.0
0.3
0.3
0.2
23
0.4

S0 = onN
S 0 O 0 O

03
03
0.2
0.2
0.5
0.6
0.5
0.4
0.6
0.4

0.4
0.4
03
0.1
03
0.4
0.5
1.5

11
0.9
0.6
0.5
0.6
0.6
0.5
0.8

0.2
0.6
0.4
03
0.4
0.5
0.2

03
03
0.5
0.4
0.6
0.4

0.5
03
0.4
0.5
0.4
0.2
0.2

G80
(DH)

AlZt
1.2
1.2
0.5
0.9
0.9
0.5
0.2
0.2
22
0.4

0.9
0.7
1.5
0.5
1.0
0.7
0.5
0.6
0.2
0.2
0.2
0.2
0.7
0.8
0.7
0.7
0.7
0.7
0.3
0.4
03
0.6
03
0.2
0.7
0.6
0.7
0.6
0.7
0.4
0.9
0.6
0.4
0.4
0.5
0.8
0.2
0.7
1.4
0.3
0.4
0.5
0.2
03
0.3
0.5
0.5
0.7
0.5
0.2
0.5
0.4
0.6
0.4
0.4
0.2
0.2
0.3
1.0

G90/EQ900
(GD]

Azt
1.2
1.2
0.5
0.9
0.9
0.5
0.2
0.2
22
04
0.9
0.7
1.5
0.5
1.0
0.7
0.5
0.6
0.2
0.2
0.2
0.2
0.7
0.8
0.7
0.7
0.7
0.7
04
03
0.6
03
0.1
0.7
0.6
0.7
0.6
0.7
04
0.9
0.6
0.4
04
0.5
0.8
0.2
0.7
1.4
05
0.6
0.5
0.2
03
03
0.5
05
0.7
0.5
0.2
0.5
04
0.6
04
04
0.2
0.2
03
1.0



79 g geteled
80 EO|0 W3 42 |

81 Efolof % & ojuEa) (18

82 Efolof ofEa| & 8 ofEal (28

83 %C 243 oju2|

84 ZEE =0f 2f3 ofgal (LH)

85 ZEE 0 olAjolS S ofyEe]

86 TEE Z0f OIREAOIC HE ofgE2| (UT)
87 210f =0f OfRAOIE HE ofEe]

88 migl J24l TS ofyEe]

89 2lof 1f7|x| Eajo] £ ofdEz]

90 2/0f EABA E7) ofgEz]

91 |78 & 7 L TS ojuE2

92 ZEE HZ {S(LH)

ZEE N
93 ZEEASS(IT)

94 |ZEE HZ L43(RH)
95 |29 & =2 (LH)

96 29| 2 oliE2| (¥

97 |29] & oiE2| (RH)

98 AERE Ql&a|0|E {ME2| (LH)
99 AERE Ql&3|0|E {ME2| (RH)
100 AEZE oj#E2|

101 AEZE oj¥g2| (%)

102 AEZE O{4E2|(RH,ZEELYAH])
103 | AH|0|Uato|X Hf

104 | AH|O|U2}0|N Hf £&(YF)

105 | AH|0|Lato|MY I M EE| (LH)
106 AE|O|LUzt0|X &3 olE| (¥F)
107 | AH|0|Uato| MY I ME2] (RH)
108 | 2|0| A2AHH HE2|E

109 IZAHH o{dE2|

10 | AZAHH o S2|(ATI0JZEAE)

o

o

(=}

B SRR p/ERPH| FQAE U Ad BEFH|AIZ

X AR WSt RIS SM Aol w2t AR} AB90] 40| & 2 3

U

ol
RO (E=H= 7|E)

1 Z2E HH QHE
2 | #cmdojdEa|(LH, HEHE R Ao =)
3 #H F 1 o E2|(RH, EHEE 0]23)
4 | 2lC|ololE M ZETH O E2|(HH, 2 C|oflo|E, 2FIM 0|=Eh)
5 o (=4 u_}ldl o.lAdEal
2L ojdE2]
Izl o g2l(HRah
I (e E 0| =3
MRZ ojdEga|
10 sl=atold ofdEal
1 HYAHOIE B of g2
12 E¥3 2|E mjE(AaE =S
13 | ZEEZOEHOMER|(LH)
14 | ZE2EZO{EHO0YE2E|(RH)
15 | 2|0{=0fEhdof s al(LH)
16 | 2|0{=0fzHdof S 2| (RH)
17 | ZEE 0| OFRAIO|E #E 0fE2|(LH)
18 |OFRAIOIE 2|0] 7 2|2E ZHEE 0|2] ojdE2|
19 | MEje|SZatoldgal(LH, e At| 28
20 |dEe|EEatodEa|(RH, 22 A0 Z )
21 | Ol Sk TE o2
22 2[0f HE OjEE|(RHHE)
23 |4 IjE(EHEE oj=dh)
24 AO|EH LS miE(LH, 224} 0| = 8
25 |AJO|EA L= THE(RH, 224} D)2 )
26 AO|EMQIFI E(LH, SR A0 ZE)
27 | AIO|EAQIFIHE(RH, EEAD| =3
28 |ZZE e} 9= 1d ofE2| (LH)
29 ZZE Lzt o= 1d ofE2| (RH)
30 ZEE HE =¥ (EAHEME)
31 | mid =F(LH)
32 Y AF WEZF(LH)
33 Sc oy =&
34 Roajd o&
35 | BT ALO|E |% T EEHLH)
36 EH|Y AO|E md =&
37 E3y3 2|c g ZR(EISF)
38 ZEE 0] 1i'd ofE2| = THLH/EAH EILE)
39 ZEE 0 1id ofEa| =T RH/EHEIYE)
40 |2|0]=O{IHL =HH(LH)
41 | 2|0{ =0 = FHRH)
2 OFRAOI= 2]0f & 0|2 ZF(LH, ZAHEME
43 ZZ2E Uzt 9|= mid o 82| =T (LH)
44 Z2E 4z} 9| 1 o E2| ZZ(RH)
45 |AIE 9% "t ol ga|=FH(LH, 12 %)
46 | ME 9| at oM E2|=EHRH,H2S)
47 | 2lo{HE =F (EHE L)
48 Y O EEH(EEE)
49 |ALO|EA! Q= T ZEK(LH)
50 AMO|EA 9|F IiE=F(RH)

-iru r-‘2 Lu

6
7
8
9

N

0.7
0.2

0.6
0.7
03
03
0.2
25
0.7
0.2
03
1.4
19
1.4
0.7

11
0.7
1.6
1.6
1.6
24
1.6
0.6
0.6
0.4
0.6
0.4
35
22
0.8

2

G70
(IK)
Alzt

1.8

0.4

59

22

0.8

22

4.0

52

22

22

1.6

1.6

1.6

17

17

0.2

03

23

23

25

1.8

43

2.6

2.6

10.5

10.5

3.1

3.1

21

29

3.0

3.1

3.4

1.8

37
24
24
3.0
3.0
03
19
19
27
27
2.0
1.0
1.6
16

0.7
0.2
0.2
0.6
0.2
0.7
03
0.2
0.2
3.1
0.6
0.2
03
1.6
25
1.6
0.8

11
0.8
1.0
1.0
1.0
1.6
1.0
0.6
0.5
0.4
0.5
0.4
33
34
14

G8o

(DH)

Azt
2.0
0.7
4.8
23
0.9
3.4
4.0
6.3
0.5
21
1.5
1.8
1.8
1.8
1.8
0.2
0.2
124
124
3.1
2.0
37
1.4
1.4
6.7
6.7
85
9.2
26
3.0
3.8
33
3.6
1.8
3.9
32
32
32
32
1.0
1.9
19
21
21
26
1.0
17
17

11
0.7
0.2
04
0.6
0.2
0.7
03
03
0.2

3.1
0.6
0.2
03
1.6
25
1.6

1.0
1.0
1.0
1.6
1.0
0.6
0.5
04
05
0.4
33
34
1.4

G90/EQ900
(GD)
Azt

2.0
0.7
3.8
23
0.9
3.4
4.0
6.3
2.0
21
1.5
1.8
1.8
1.8
1.8
0.2
0.2
25
25
3.1
2.0
3.7
1.4
1.4
3.8
3.8
3.1
3.1
26
3.0
3.2
33
3.6
1.8
3.9
26
26
3.2
3.2
1.9
1.9
27
27
26
1.0
17
17



